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QTN — 3, ceeeeereeesennnnn e 4%
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2f(1)=2(41n2—3), ....................................................................................... 10§:}’
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Ao -3 2%, log2 N =2022.
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k. (1) HAA-2, 0), B(1, 0), shEP(x, y)iliE|P4|=2|PB|,

Bk J(x+2) +y* =2 /(x - 1)+, BHEEMECH RN (x-2)+)y* =4, MLk CH—

s . =2+ 2cosf | "
Az C (OHBH); woveeerereressenenmasesent e 543
y =2sinf
(2) M| PA|=2|PB|, FFLL|PA||PB|= —\PA| — [(2+2cosf +2)* +(2sin6)’],

=%|PA\2=%(2O+ 16cos@) =10 + 8cosf e[2, 18],
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fitt: (1) Ma=00, REXf(x)<4LFH|x -3 +|x¥=1]<4, &t=x"€[0, + o),

<4, Bo<tr<IB, 4-2r<4 =020, Mo<r<1;

M1 <t<3BF, 2<4fHpST, W1 <r<3;

Mz 30, 2t-4<4=r<4fEET, W3 <r<4
Zik, 0<t<4, BO<x*<4, MH=2<x <2, FTLMRERN{x] - 2 Sx < 2f e 5%

(2) f(x)=|x*=-3a-3|+|x*=a=1]|> 267,
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